ul
]
£ 0
POWERED BY | 9 , 8, B
2 g, @ 2T
g oW ogn 2
l I ¢ Ky sE8 Gs
& [ hng il*
° \ 9 %g £33 iz
DOOR COMPONENTS MADE IN THE USA = 37.5 MAX. O.A. FRAME WIDTH —— 5 53¢ gk
Zo® 1
& o%: g
x 2 @
3 28% 5.
g 8,8 o°
¢ ok Ik
o o8
" @ o
Glazed Fiberglass Door / oy
a ‘
"NON-IMPACT" / :
w
INSWING / OUTSWING 55
e A=
TP it
— <- ; -
£2 ok s |. 82
- NTS X 5 35S
< = i S iBo
o= =5 E o o s
XE O 71 .
<y Q4 2 2
R © s g o Q..((P)
o’ o el &
- g[8 "
EVALUATED FOR USE IN THE STATE OF TEXAS TD’ D R - 7 09 y/ lol>-
The Fiberglass Door system described herein complies with the 2018 Interational / // i o
Residential Code {IRC}, Sections R301 & Ré09 and the 2018 International Building g "
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following / S
conditions: : z
1. Anchors shall be as listed and spaced as shown in the defails. Anchor % o
embedment to base material shall be beyond wall dressing or stucco. Qg £
2. When used in areas requiring wind-borme debris protection this product is © %’ Q
required fo be protected with an impact resistant covering that complies ) ;’ g
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. g gl |x
3. Allowable design pressure requirements must be equal fo or less than the i [
design pressure rating shown in the design pressure chart, sheet 1 of this E 2
4. drawing. &8
Conditions not covered by this drawing are subject to further engineering =2 ;
analysis. NN
=18k
AN
TABLE OF CONTENTS X LIP LITE INSERT |  INSWING +30.0 -30.0 —1S
SHEETE | DESCRIPTION Nz
1 Typical elevations, design pressures & general notes X LIP LITE INSERT OUTISWING +30.0 -30.0 DATE: 11/09/16
2 Door panel details {lip lite insert glazing} SCALE:  N.T.S.
3 Door panel details (flush glazing) X FLUSH GLAZED INSWING +55.0 -55.0 DWG. BY: JK
4 Horizontal ’& vertical cross sections : CHK. BY: LFS
5 Verfical cross sections X FLUSH GLAZED | OUTSWING +70.0 -70.0 DRAWING NO.:
6 Frame anchoring TX-4663
SHEET _1 oF _6

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-709 Plastpro FG Glazed\C - Drawings\TX-4663.65.dwg

@ 2016 R.W. BUILDING CONSULTANTS INC.



ul
e
el o7 EXTERIOR 28’ . g5, B
04— |— " ][04 £ 2 Us
U < Ly S =, Lé N (3N Lo N * 8"‘3 dl"g GT
R ) a 4 R . wt Z e fin
SRR 5 : J S o 2 gty gT
T T T PN = %g §g¢ 33
1 ~a 4’ " < \d . T S 5 art £ ‘8 nie
[Tt g R y | TOP RAIL 3 338 8
i n M. - . 4 4 S § . i il (COMP) go.— Eg
CAP [PVC) \ XU p ' gn" 28
CAP [PVC) & 9% ow
STILE {LVL) INTERIOR STILE {LVL) 2 Q%2 .,%
=3 L.
-
8 pan A o4
/"1 "\ HORIZONTAL CROSS SECTION & “‘g 33
z 2 &
2/ UL I ; $%
FIBERGLASS o E &K B
DOOR SKIN R A 2
\ Lo P e
35.75" MAX. PANEL Ty ey 0
g #6X1-1/2" ) AR 7
WIDTH : OPH SMS . GLASS BITE 1/2 . =
> . 2'MAX. R - a
D.L.O. WIDTH * INTERIOR ——— 1/2" OVERALL GLASS THK. J .
. Q e
J 1/8" TEMPERED GLASS & |82
n = .. &)
(1 / - o O ARSPACE 3 g =
\2/ . 1 \ INTERIOR %\ EXTERIOR 3 =
. . . —F 1/8" TEMPERED GLASS 2 %
= 1
5 Z::; EXTERIOR STEEL SPACER " 0ol
H ] R . . ] b 38
- T Q'SO SEALANT
[ RN
[s
2 > b MR (@) peraL
3 3 0
= 2 S 0
I3 Y __I o Z
2 : . FOAMCORE || " -7 8
<5 4T Ll =
/ \ g Sy g'
/// M 4'45

-~
.
|

L.057"

N S e 4.
. ....‘.'
ol -

as | L]

11/11/21{UPDATE TO 2018 IBC/IRC CODE

10/08/18|ADDED FLUSH GLAZING

(TYP) R DY

T i T it s
2 ODL LITE FRAME 1 | ! ‘ i i(\_l 23(
DOOR PANEL — 1.3 BOTIOM RAIL— || cirimai i oaTE: 11,/09/16

Plastpro [COMP.) o L e A B scae:  N.T.S.

Fiberglass ODL LITE FRAME ) ) pwe. B:  JK

HP Polypropylene ‘
CHK. BY: LFS
/" 2"\ VERTICAL CROSS SECTION DRAWING NO:
DOOR PANEL SKIN: FIBERGLASS {0.075" MIN. THICKNESS) \ZJ TX—4663
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) SHEET 2 OF 6

" 7AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro £G Glazed\C - Drawings\TX-4663.65.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



- ,G,”\?‘:‘?: * b W
R oy T3 H )
TOP RAIL = o Fiotl, " i
PVC T |l FesTiE 8
) Pve) Za AT £ 5 i
. . . [ros £7 w108 By B BT
—12 08 INTERIOR L e i Pl : Lt £ e G
s;Ot‘: ; H - g e g 3*
*, s (5] d
* Sba = e ’2’;‘%’}., ‘ég z82 53
- o I QI G > d3ge 7k
2 D // 2321“‘ * 205 EE
= N 1/ W™ 5 88 2o
| FIBERGLASS 7 e oxS &
7 LY =0 DOOR SKIN /A £ gmg Oy
§ 598 Bu
STILE CAP (PVC) EXTERIOR \ 2 m§ z 5
[
WOOD STILE Log(OOgc ; = gg
BLOCK
/ 1"\ HORIZONTAL CROSS SECTION g
-, (33' LONG) 8
[75}
=
<
iy
< [
35.75" MAX. S |y
— DOOR . 1/2" GLASS o s g £
PANEL WIDTH BITE . I
| 26.25" MAX. INTERIOR EXTERIOR a %
D.LO. WIDTH —  5/8' NOMINAL GLASS THK. g ol 8
INTERIOR 3 S
o =
2 %
E 1/8" TEMPERED GLASS - =
| | eleks
T & AR SPACE 3
= ~~—1/8" TEMPERED GLASS &
O [}
[T~ Q
= 2 o
g ¥ SILICONE GLAZING 2
Z 5 EXTERIOR COMPOUND S SN2 o
a 3 FOAM CORE , al§ 1z
5 o m ~ S © g Q
O X o GLAZING DETAIL I 2ol [
K \3/ Flush Glazing S Nl
E /i S
= 3 /4 "
h © - <|8
& // ® 318
R ——t—0.8" /A0 ~ S|
BOTTOM RAIL S =2
l - PVC)  ~NE—— AN
X % R e
o ANfa
? e
ZING BEAD :
DOOR PANEL GLALING o 11/09/16
Plastpro SCALE:  N.T.S.
Fiberglass pwe. B:  JK
CHK. BY: LFS
2"\ VERTICAL CROSS SECTION e
DOOR PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS) \3/ TX—4663
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) —
D o s

~ Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDi - DR-709 Plastpro FG Glazed\C - Drawings\TX-4663.65.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



P

/
a

(DY (YT

SN NS/

0.15"
[=— C'SINK
Al {TYP.)

1/4" MAX.
SHIM SPACE

| TRILENNIUM

SERIES 3000 MULTI-POINT
LOCKING SYSTEM

CORNER PADS (TYP.)

At

EXT. SHEATHING

Ed

A >
A o

2X FRAMING

Fd >
e N AN A

(G >=0.42) \

#10 X 2.5" PFH WOOD SCREW
—

—— JAMB
ENDURA WEATHERSIRIP

EXT. SHEATHING —\ ‘

174" MAX.

2X FRAMING
[ (G >=0.42)

o /- DRYWALL

- _}—#ox25 PR

WOOD SCREW

SHIMSPACE il

DOOR PANEL —\

0.15"
C'SINK
(TYP.)

-——.—I-‘-——

ENDURA WEATHERSTRIP

EXTERIOR

7“2\ VERTICAL CROSS SECTION

\U Outswing shown - inswing

also approved

-/

3 e 3
SR

0.15"
CSINK —
(TYP.)

(QEBD/PE 650)

N

DRYWALL ‘/ /
#8 X 2.5" PFH WOOD SCREW

#8 X 3/4" PFH SMS

4" HINGE

(QEBD/PE 650)
EXTERIOR

(QEBD/PE 650)

174" MAX.
SHIM SPACE

T e ~

y EXT. SHEATHING

R, SR S 3
A O, . 3

#10 X 2.5" PFH WOOD SCREW ™\

ENDURA WEATHERSTRIP ~ JAMB

A\

\, INTERIOR
#8 X 1" PFH SMS

/ 1"\ HORIZONTAL CROSS SECTION
\U Inswing shown - Outswing also approved

\x DRYWALL

#10X2-1/2" PFH WS

MULITPOINT
STRIKE PLATE

2X FRAMING
/ (G >=0.42)

TRILENNIUM
SERIES 3000 MULTIPOINT
LOCKING SYSTEM

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.6598.91897

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

3
c"‘)m
=
o=
wo
< 5
2 . 8D
e} > 7
s |3z
& = =9
L =
NS
NG
ECE
=
S &
oo oo
LIk
wd | d
L
o
o
O
3
&
o
12| v
I £
I
Plo| v
o
N|Z E;
L] I
S
:u_
S8
£18
S|
NS
SN
L (n*__
Aand o<
AR
fank § 2N
NS
oaTE: 11,/09/16
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4663

SHEET 4 oF _6

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-709 Plastpro FG Glazed\C - Drawings\TX-4663.65.dwg

CERTIFICATE OF REGISTRATION # F--11852

© zo18 R.W. BUILDING CONSBULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4663.65.dwg

\ W\
INTERIOR EXTERIOR INTERIOR /X EXTERIOR
DOOR PANEL
e DOOR PANEL
ENDURA \
DOOR SWEEP ENDURA
(DBK-R) DOOR SWEEP
/ (DBK-ZAC) _ fz
.' 94
b

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/1 "\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

4.56" !

1 INSWING ADJUSTABLE THRESHOLD
LAIL4565

! 4.56" !

e Y/ DOOR PANEL
WEATHERSTRIP
INTERIOR EXTERIOR
QEBD/PE 450),  YERUR
( / ) ENDURA \ y/i
WEATHERSTRIP  INIERIOR EXTERIOR
m@@ (QEBD/PE 650)

—

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"3 VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION

\5/ inswing Arficulating Threshold

W Outswing Bump Threshold

W QOutswing Bump Threshold

' NEE
8 "V ﬁ 3
45¢" * | 456" |
2")INSWING ADJUSTABLE THRESHOLD 3 )INSWING ADJUSTABLE THRESHOLD 2 )INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD
ZAI4565FN LAILAA4S65 ZAIAA4565FN LAl4565RDS

R

r
|
N

4.56" !

4.56" 456"
6 INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
JACL4565 IACA545EN IACLAA4565 IACAA4565FN ZAC4565RDS

! ) ) ) ]

< ~ ~ -

i ! ! i

e 56 ] | 4.56" ,! - 456' ! | 456" ,! |
1 QUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD
ZOB4565FN IOBL4565 ZOB4565RDS FOB4566

| MAX. DESIGN PRESSURE = 55 PSF |

uj
aq
S 0
Yo oo
Ex @2 B
Ew 2 ©
Q ] Z:
0 b OMm 0‘
2 Z2 N fu
u i 6
c - l!*
9 §°°3 ZZ
] C o
€ St ¢
> Jg0 0k
254 Qg
z -
s §8% 93
> O N
o o W
oxz &
bl 2 0 L.
o £a, OY
g 9 .c 4
Q. —oO b4
2 Bos b
[ 06
2 § oL
[ =
@ &«
P 8
]
14
[*d
)
wn
=
o
S
L0
»
= n
> s 2
a ] ]
Z o &
i = O
Gl =
43
e ol E
S S|
>
(= =
ol B
o o
rid 14l Pos
bgm
Ly
Q
o)
&)
O
&
[0
g8 2
oIN
S 9
Dle| »
o
Rzl B
9 e
e3
:u.
—
<&
£
3|
)
&N |~
Sl
FQE
ANE
-0
NI=IZ
patE: 11/09/16
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4663

SHEET 5 oF 8

@ 2016 R.W. BUILDING DONSULTANTS INC.



< g 2X framing (by others) o n
o6 < £ 0
oo e v G
Lo £+ 2 4o
< = 8 ¥ H fu UB BT
© A 9 Lo £ g ~ 2d
g F RS
! ! ‘ 4 “ 55 Egn 2o
VUV SN l i E‘E g ’_'_;’ Ié) ég
SEE HINGE : - - . in >
. - . it
DETAIL 1 NeE T #10X 2.5" PFH N s 887 g8
in WOOD SCREW |l . & - ° 0x2 ,©
g (YP.@HEAD || ©Z Ej 2 28 by
5 AND JAMBS) =~ . ] § 592 Bp
8 & oo o 8
. % B g ™
< N | N 3 E
! 3 N &K B
Al - . P T 2
SEE HINGE SEE STRIKE 9
DETAIL 2 . B | PLATE DETAIL |, o
‘ e (TYP.) B i LZD
Q. ; o
Na: i SE s 2
ih U 2 |32
- o P~ o z m| <<
1 N - 3 =l
Wl X L] o0 2
% . < g
5 x
HINGE JAMB #10 X 2.5" PFH WOOD SCREW STRIKE JAMB 3 ©
T 1/4' X 2-3/4" DeWALT OR © <
FRAME ANCHORING {TW CONCRETE SCREW
X (TYP @ SILL) el
] d
FLOOR SUBSTRATE MATERIAL {TYP.) 3 §
CONCRETE {MIN. 3000 PSi) o
WOOD (G >=0.42) | 2
#10X2-1/2' FHWS —_[D g |o
42— muLmroiT 85| |2
STRIKE PLATE o3 3
il Rzl Bl
22
STRIKE PLATE DETAIL w s
=l
CONCRETE ANCHOR NOTES: NE
1. Concrete anchor locations at the corners may be adjusted to mainfain the min. i’ ;‘
edge distance to mortar joints. NN
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 2-1/2" PFH WS B9 E
maintain the min. edge distance to mortar joints, additional concrete anchors 7 g P #8 X 2-1/2" PFH WS NS0
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. e ] & D
3. Concrete anchor table: 48 X 1" PFH WS é,o | :. Al =2
T ———— " \d ] " [l -
o Hlo = #8 X 3/4" PFH WS #8X1 PFHWSé:._.o S #8 X 3/4" PFH WS pate: 11/09/16
N\ \ ) DWG. BY: JK
LA 13 " ok ev:  LFS
TDA’;(I:Z.I;', HINGE DETAIL 1 HINGE DETAIL 2 DRAWING NO.:
e A " 11 il TX"’4663
lurRacons|  1/4 1-3/4 L 4
SHEET _6 oF _6

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4663.65.dwg

© 2016 R.W. BUILDING CONSLLTANTS ING.



